

FRACTIONS

Subtracting fractions with like denominators

All the fractions have the same denominator. Subtract the second numerator from the first and keep the denominator the same.

$$\frac{7}{5} - \frac{2}{5} =$$

$$\frac{3}{6} - \frac{2}{6} =$$

$$\frac{12}{3} - \frac{\quad}{3} = \frac{5}{3}$$

$$\frac{11}{5} - \frac{2}{5} =$$

$$\frac{11}{10} - \frac{4}{10} =$$

$$\frac{9}{1} - \frac{\quad}{1} = \frac{6}{1}$$

$$\frac{7}{8} - \frac{6}{8} =$$

$$\frac{1}{7} - \frac{1}{7} =$$

$$\frac{12}{8} - \frac{\quad}{8} = \frac{6}{8}$$

$$\frac{4}{6} - \frac{1}{6} =$$

$$\frac{7}{9} - \frac{1}{9} =$$

$$\frac{\quad}{9} - \frac{1}{9} = \frac{2}{9}$$

$$\frac{4}{8} - \frac{3}{8} =$$

$$\frac{12}{12} - \frac{4}{12} =$$

$$\frac{9}{2} - \frac{5}{2} = \frac{4}{2}$$

$$\frac{2}{4} - \frac{1}{4} =$$

$$\frac{11}{5} - \frac{3}{5} =$$

$$\frac{9}{10} - \frac{1}{10} = \frac{8}{10}$$

$$\frac{11}{7} - \frac{3}{7} =$$

$$\frac{4}{12} - \frac{3}{12} =$$

$$\frac{5}{2} - \frac{5}{2} = 0$$